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II.

Please describe the following concepts either in English or Chinese (30%; -
5% per item).

1. Diversity tramning o -
2. Identity

3. Symbolic interactionism

4. Role conflict

5. Self-fulfilling prophecy

6. Emotional labor

Please choose an appropriate answer to each question (40%; 4% per item).

L AEFRE T2 ELE ) FodsmegHFE?(DEEHRE  QEELR
RHEE > QRTBHERA  DESRUHATLEENTY -

2. HEBARBEORBESE © TERBRAMREENE > fARE
WABA ) HRA?VEBEE > OXLELA QRETEL
DBEE B -

3. ATHEARRE 4ok &% | (Knowledge Economy)#y 452 ? (DM T £ £
RHBREBE  QNEHFTARBEREVNKEGFEEE )%
BEGNMKEEERARLLEE DR BEBEPTAFRZETRALL B

4, I EH T EHHHR B KREH | Max Weber s Theory of
Bureaucracy)#9# i R 7 ? (DRBEXRRFTE - QABBEY
ZEREEFTEMIERLIESN  QERRLERHEEFTX DA
EREHEEy X -

5.7 T B Bem&IER | Karl Marx’ s Theory of Class)ay it
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6. fEH T REEHBREEALAGYERE | (Benedict Anderson’ s

Nationalism: Imagined Communities)& 43R E5& ? (IMEABEE L
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8. Which is not characteristic of Michel Foucault? (1) He compares modem
society with Jeremy Bentham's "Panopticon” design for palaces; (2) In the
Panopticon, one can watch over many others while the one remains
unseen; (3) It is through this visibility, modem society exercises its
controlling systems of power and knowledge; (4) Increasing visibility
leads to power located on an increasingly individualized level.

9. Which is not characteristic of Feminism? (1) Feminism seeks to establish
equal opportunities for women in education and employment; (2) Male
participation in feminism is not encouraged by feminists; (3) The social
construct of masculinity is seen by feminism as problematic; (4) The
patriarchal concept of masculinity is seen as harmful to men.

10. In some industries, a company can be successful only by succeeding on a
global scale. In general, which 1s “not considered to be primary factors
motivating companies to expand internationally? (1) Economies of scale,
(2) enhancement of organizational image, (3) economies of scope, (4)
low-cost production.

Please explain the relations of the following concepts to human resource
management (or organizational behavior stud1es) either in English or Chinese
(30%; 15% per item).

1. Socialization

2. Positivism and quantitative research’
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This exam consists of a Grammar, Vocabulary, and Punctuation part, and a Reading

have 100 minutes for this exam.
¢ For the Grammar, Vocabulary, and Punctuation part, choose the word or phrase that
fits best in the blank of the given sentence. .
e For the Reading Comprehension part, choose the answer that comes closest to the
meaning of the text.

Grammar, Vocabulary, and Punctuation
1. John’s behavior is a example of how rude American adolescents can be.
a. prime b. primal c. primitive d. primate

2. Karl: “I did not pass my driver’s test. How about you?”
Heather: “Me .”
a. as well " b. either c. neither d. too

3. Jane is 15 years older than you. Before you marry her, be sure you realize what that
a. enfolds b. entrails c. enlists d. entails

4. After taking a shower, __

a. the towel was thrown on the floor

b. the floor was strewn with towels

c. the water on the floor was absorbed by towels, strewn on the floor
d. Arnold flung his towel on the floor

5. He made me so angry that,v I swear, if I a gun I would have killed him on the spot!

a. had b. would have - c.had had - d. had bought

6. The novels of Charles Dickens are so____ that many r,eadefs cry when they read them.
a. affecting "~ b. affectionate - c. affiliate d. affected

7. Christina loves so much that she left the city and went to live in a forest.

a. the nature b. alone c. nature d. people

8. With Valentine’s Day Jeremy gave his girlfriend chocolate, roses, and a diamond
watch, but she dumped him anyway for Patrick.

a. lastly b.then c. genuine d. even

9.He what you whispered in his ear because all day he had this goofy smile on his face!
a. ought to have liked  b. should have liked c. must have liked d. might have liked

10.Ilove dogs  they are so lively!

a., b.; c.if . d.and
11. Patrick soon tired of Jennifer d

a. . Who used to be Jeremy’s girlfriend

‘; \

Comprehension part. The total number of quest1ons is 50 (2 points per correct answer). You |* -
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b., Jeremy’s old girlfriend
c.. Whom Jeremy used to date. g
d. ; who Jeremy still loved.

12. Carla was beautiful in her role as Juliet, and the audience gave her a huge applauée.
a. magnificent . b. magnificently c. magnanimously d. magical -
13. Vance ran the marathon in under 3 hours. , it was a record in the category of seniors
over 70.

a. The astonishing achievement
b. Astonished
c. Astonishing
d. An astonishing achievement

14.1 visited Tokyo, but only remember that I got lost all the time.
a. once b. have ever § c. ever d. seldom

15. The student insisted that he written the term papers all by himself.

a. has _ b. have - c. must have d. had

16. Because it was all the way in Hualien, Robert could not the job.

a. except b. execute c. accept d. exert

17. China and Taiwan are, , a communist and a democratic state.

a. respectively b. in other words c. both d. vice versa
18. I cannot believe it: Madonna has turned 53 already!

a. still looking so young

b. famous American pop star
c. , Queen of Pop,

d. obviously

=

19. His parents had expected more, but he still graduated second in his class. You could
call that disappointing.

a. only b. almost c. hardly d. certainly
20. I wonder to what dogs are aware of the thoughts of their owners.
a. purpose b. measure c. point d. extent

21. Kids today: they think the world them a living, but they will find out this isn’t so!

a. owes b. owns c. owning d. owing
22. Will Greece ever be able to itself from its current economic woes, you think?
a. extract b. extricate c. exhume d. extradite

23. studying for an MBA is hard work, it also can be very rewarding.
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a. Although b. Notwithstanding c. However d. Due to P
24. The cruise ship Costa Concordia ran aground the coast of Italy last month. .
a. off b. by c.at d.on
25. Teaching private students English can be a very job for foreigners in Taiwan. ’
a. lucid b. lurid c. lucrative d. lugubrious

' |26. Adele and Tom are married now for 6 months, but unfortunately they still cannot

very well. _

a. get across b. get along c.getoff -~ d. gettogether

27. you travel, the less you worry about what to pack.-

a. The more ~ b. Moreover c. Unless d. Whenever

28. Softness is a major the comfort of a mattress.

a. cause of b. consequence of c. factor in d. argument for

29. These days I am often tired that I fall asleep in front of the TV.

a. so b. too c. very d. such

30. Cycling has really in Taiwan: it seems everybody is cioing it now!

a. succeeded b. popular c. taken up d. caught on
31. slogan do you like better, “Taiwan Up!” or “Taiwan Next!”?

a. What - b. Which c. Whose d. Whatever

32. over 500 applicants for a single job, she did not see the point in sending in her
resume. a

a. Because of b. Due to c. Since d. With

33. After the groom had given his bride the ring, he her.

a. kisses b. kissed c. has kissed d. had kissed

34. Everyone of his friends moved away.

a. has ' b. have c.did d.all

35. Fashion models are so thin, even: many must suffer from anorexia.

a. emancipated b. evacuated c. evaporated d. emaciated

36. Five feetdeep, .

a. he became fearful of swimming in that water

b. the water began to scare him a bit

¢. swimming became scary

d. he quickly turned around to swim back to the beach
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37. Your complaining only makes him more upset, you see that? ’
a.can’t b. can c. did d. didn’t
38. Even though Judith is painfully shy, she talked and laughed with you. a
a. never b. still c. barely d. the whole time , -
39. Animals instinctively know how to care for their young; humans need to learn this.
a. instinctively b. , by contrast, ~ c. intuitively d. adamantly
40. I was by Jacqueline Liu’s mistreatment of her Filipino housekeepers.
a. appealed b. appeased . c. appraised d. appalled

Reading Comprehension

I
China is weathering the global crisis well. But to sustain a high growth rate, the economy
needs to shift away from investment and exports towards domestic consumption. That
transition depends on a fairer division of the spoils of growth. At present, China’s banks
shovel workers’ savings into state-owned enterprises, depriving workers of spending power
and private companies of capital. As a result, just when some of the other ingredients of
China’s boom, such as cheap land and labor, are becoming scarcer, the government is wasting
capital on a vast scale. Freeing up the financial system would give consumers more spending

power and improve the allocation of capital.
(Adapted from The Economist, January 28,2012, p. 9)

41. According to this paragraph,

(a) China is likely to continue enjoying a high growth rate thanks to investment and exports
(b) if China wants to continue enjoying a high growth rate it will need to focus its economy
more on domestic consumption

(c) the global crisis is likely to bypass China because workers’ high savings rate, cheap land,
and cheap labor

(d) China’s weather, ensuring a high growth rate, sustains its insulation against the global
crisis.

~ |42. In China, the spoils of growth

(a) are shifting away from investment and export

(b) are in transition toward domestic consumption
(c) need to be divided more fairly '
(d) are dividing China’s banks from China’s workers

43. China’s banks

(a) invest workers’ savings in state-owned rather than private companies
(b) embezzle workers’ savings, depriving them of spending power

(c) abuse ordinary shovel workers in state-owned enterprises

(d) pay workers so little interest that they deprive them of spending power
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44. Of the ingredients of China’s boom, "
(a) land and labor are cheap and plentiful

(b) land is cheap, but labor is becoming scarcer

(c) capital and spending power are emphasized at the expense of land and labor

(d) capital and spending power should be increased now that labor and land become scarce’

-~

~

45. The Chinese government is wasting capital on a vast scale

(a) in order to jump-start the economy and to stave off the global recession
(b) in order to give consumers more spending power

(c) by investing in state-owned rather than private companies

(d) because it wants to free up the financial system

II
Human memory is created and highly suggestible, and a wide variety of innocuous,
embarrassing, and frightening memories can be falsely created through the use of different
[techniques, including guided imagery, hypnosis, and suggestion by others. Though not all
individuals who are exposed to these techniques will develop memories, experiments suggest
a significant number of people will and will actively defend the existence of the events, even
if told they were false and deliberately implanted. In an experiment by Roediger and
McDermott's (1995), subjects were presented with a list of related items (such as candy,
sugar, honey) to study. When asked to recall the list, participants were just as, if not more,
likely to recall semantically related words (such as words denoting sweetness) than items that

were actually studied, thus creating false memories.
(Adapted from the Wikipedia article “False Memory Syndrome™)

46. According to this paragraph,

(a) people tend to forget innocuous, embarrassing, and frightening events

(b) people especially remember events that are innocuous, embarrassing, and frightening

(c) many memories, whether innocuous, embarrassing, or frightening, can actually be falsely
created

(d) people use different techniques to remember innocuous, embarrasing, and frightening
events

47. Guided imagery, hypnosis, and suggestion by others

(a) are among the techniques that create false memories in people

(b) are the three techniques that create false memories in people

(c) are among the techniques that develop memories in a significant number of people

(d) are semantically related words that develop memories in a significant number of people

48. When told that their memories were false and deliberately implanted, according to
experiments

(a) many people will find this embarrassing or frightening

(b) many people will defend such experiments

(c) many people will assume to have been exposed to techniques such as guided imagary,
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hypnosis, and suggestion by others N
(d) many people will still insist that their memories are of true events, and not deliberately «
implanted

49. Once you are subjected to techniques such as guided imagery and hypnosis,
(a) you will develop false memories -
(b) you may develop false memories, even 1f told about the techniques you have been
subjected to

(c) you may develop false memories, unless told about the techniques you have been
subjected to

(d) you may instill false memories in others

50. In the experiment by Roediger and McDermott, subjects remembered

(a) words denoting sweetness because it reminded them of childhood pleasures
(b) words not actually studied, but semantically related to studied words

(c) remembered words denoting sweetness because they are semantically related
(d) remembered false memories, triggered by such words as denoting sweetness

End of the English Entrance Examination




-

HIPLRE 10l Z2FEBLEEL S04 F R E
% 4136

BB R (AFHALET &) e
FNRRAME NS )
— B (R A (45%) |
. $mIHOEHEBETE  BHOLAN Ebg 20UBAEEL Akl BT

FRIA IRBIEF L - ARSI EL2EF L PRARE— SN EF T R-THE
FRZME BT A F MR FRER() (17 (2) .27 (3) .37(4) .47 (B) .57
(5%)

MRS XY R EESE > FEX~N(u1,02) Vi~N(ug,03) e ¥ XAY
HUIEIL > 0, bBFHE > Hab#0 A TFHMEARARELEI»H2() aX (2) Y+
(3) aX +b (4) aX +0bY (B) XY - (5%)

FRAHBUAERA ETBROENASREREAE THME » LN ABRY
PEREEENSBE > THH 6045 mANS6 o EE 6. T8% » BINAE /1 RIERS
BegEEEBRw(1) 6 (2) 12 (3) 14 (4) 16 (5) 18 - (5%)

ANEEFHERBTETEIREERALE  PHRESHAC - ROBRFES 64
EBE THR/RE-EA6.10 - REZR0.4> BEEKREe= 01 ZHRApERH
RBEREERATRS @ Alpa&keE3 (1) 0.0100 (2) 0.0228 (3) 0.4772 (4)
0.5288 (5) 0.9772 - (5%) '

FRBE TP BBIARABRTRRRYE SR IEBR

(1) HREABRBRERENINGFERERTEMEE - FRERHIHD T TR
BRENER (FRaitRENESESEHTEBR) - (5%)

(2) HAEXANZBRANEL  ARFRBEHBEMMB L B EREYRL s
B - SESRE > REAB S MEEBR (FFHALLEY B4 %
) ?(5%)

(3) FRABDEEBERFZEBINERTHAE - BEHFLEHTE AR
FRABEHER ZHEFELBETHE AELRER FTEHREKRE
B 1200 MERPHREL 135 T - FE FTAHLKRRAER » B4t8 b
BERBERAS LT EALITHRE 2 (5%)

AHEEZEH(ANOVA) » FH4TEBRE?(]) SERSWHEZEHRER
BRERTSEANEERHAREHRFAFEZNREN Q) Z068E8% oy
EHEREENL AKX L ER —RNBEERE TR0 S HH B HEFE
ZHREN Q) BRBHREHEAFHENPENTHELE PO THUTAES
2& (b) ZTHREZERFINBEZAE > MTE-—FHERI S AN THYRERS

iy LEFBER t REXFTARER B) REER - (5%)




#HB%hit2 [AEFELEFE]

TP LKL 01 B2 EERALERAL-E A E RN RAE
v A5 4136
£AHH2R

b

FMEEBRB AR o FARANEBE? () BEHAV EASE S B |

SUAR—HEELHO) FEHSWRBAEFINAGON 8 Y HERE HHHE
BROEEFAML Q) BAM T SEHIH LR —BHEE S (1) HEEHR
oA E B R BEA B BRANEEREH (NAASHHENE) > REF 7

N-laRHREHeTEF oy  MEFTRASREHTEBN G A EAY R
BovtaREEERtRary 6) 2o MARBBEISFI M RRE
BEBHRHIEER N - (5%)

~ F1 &R (55%)

L EHHTICEST TR SRS H(DEMRERN IV AEQORABAGER

B ERETRE (35%) -
REHE
E—HAtRE
BIFAR T BE
ARER t BE
ERFEEH M
RXEZBEFTFIFHRE
BT

® e R0 oP

FARECBETHEELHOERGIANGBIRFABEZNEE  NRZwEH
REMBER 240K AXKMNE > MBFAMBRIHERFTEAARG AL HLER

#38 4u T (10%) : |
R4 T A S ERA R HEE N 1B % B 7,
k¥ 55 115 24 46

HRRBREALEN  HEEH BRI ANBTELH LASHEABELE?
FRIFEBREHBRE > LETHHNBEARKT LHHEBRER -
(x2 = 3.8415, x2 = 5.9915, X2 = 7.8147, 2 = 9.4877, x2 = 11.0705)




By P LRS00l L5 EALERE DL L RRE
#B it [ATmaEriEFa) I 1 4136

£4RE3 7R

. ¥OALRATRMA ULAEF A BRENAAR  REREFE - LHER
BHENERAEM - AF —HEABSHA LR O TR A GG T LB B
B T&R (fenales]) « $HRBIAEABARGIMER » REELER -
A8 FREBLHF TRy R BFEEN0%) -

B ,
= | FEBHRE
R R I~ 5 fEETRYEERR
1 } 684° 468 460 8.99701
a. TREABEL (B8, female/LHTFE, female, FeRTER
| R’
=2 AR IR
B ZfHEHE | BF¥ERRE | Beta ¢ t BEN
1 (B&) 34483 1310 26.323 .000
female -.580 1.634 -.022 -355 723
FLRIEE 3.359 360 860 9.333 .000
female e R & -1.059 433 -247 2.445 015

a. {RBEL 7

T Ve ——— et e Py




A

=y

=
@

RGP IOR S0:- 25 B 2 B8 &0 % 5

4136

#£4R K47

A

%EH

T2 [AEmaELETFa]

=

i

>

.
.

g

T L)

F

T

¥ T

RN R IR sk

g “or N
PG ER K0<Z<z)=a o
’ Plst)=u
R D S - e
6.0 0.0000 00040 00080 00120 0.0160 00199 G.0239  0.0779 0EAIY 00359
if £ %o £oor Losp fus  4f 61 00398 0.0438 00478 00517 00557 00596 00635 0.0675 00714 0.075
1 38 6314 12706 LG 634638 H £.2 0.0793 00832 0087t 00910 00948 00967 01026 0.1064 0.1103 0.1141
2 LEBS . 2920 4303 G865 9928 2 23 01179 01217 01255 01293 01331 01368 01406 03443 0.1480 0.1547
/A i s A p 64 01554 01591 01628 0664 01700 01736 0772 0.1308 0,844 " 0.1879
S 1% 205 28 3385 aem 4 .5 - 01915 01950 01985 02019 02054 02088 02123 02157 02100 0.2224
M ““MN w.wm w\mw wmw wwww w 66 02357 02291 02324 02357 02389 02422 02454 02486 0517 02549
: 1397 1860 2306 2896 3355 s %.7 02580 02611 -02642 0.2673 02704 02734 02764 0279 02823 02852
) 1383 1833 2262 28 3480 ) 48 02881 02910 02939 02967 02995 03023 03051 03078 03106 03133
10 U 132 228 2764 Al I 09 03159 031%6 03217 03238 03264 04789 03315 03340 03365 033R9
Lo 03413 03438 03461 03985 0I508 02531 0353¢ 03577 03509 036
1 1.363 1.7% 220t 2718 3,106 Pi N
Y 1356 LT 2170 281 3085 n L1 03643 03665 03686 03708 0379 039 0370 03790 . D380 0.3830
n 1380 Lo 2060 2650 a0 n L1 03849 03869 0388 03907 0325 03944 03062 03080 03097 0.4005
B oA oy 13 04032 04049 04066 DADE2 DADSS 041YS 04131 04147 0Al6Z 0AITT
® 1337 iMe am0 2581 e - g 14 04192 04207 04222 04236 04251 04265 04279 04292 04306 04319
s 1353 © LG 2010 2567 289 17 15 04332 04345 04357 04370 04382 04394 04406 04458 04429 04441
7 1330 1734 2000 255 287 1”8 . .
9 1328 1729 2003 2329 2851 I L& 04452 04463 04474 (04484 04495 04305 04515 04525 04535 04545
26 1,325 1,725 2086 2528 2.845 20 17 04554 04364 04573 04582 04391 04390 04608 04616 0AE25 0.4633
18 04641 0464 04656 04664 04671 0QA678 04686 04693 04699 0.4706
21 1323 L7l 2,080 2518 2831 21 L9 04713 04719 04726 04732 04138 04744 Q4730 04756 04761 04767
2 A L7 20mM s 2819 2 28 04772 04778 04783 D478B (4793 04798 04803 04808 CABI) 04817
23 1319 114 2069 2,500 2.807 23
M. AAl 20w 24 2w M Z1 QA2 DASIS 0AE30 04834 04838 0AB4Z 04846 0G50 0ABS4 DABST
mooogue L 2 T B 22 04861 04864 04368 DAST! 04BIS DABIR 04881 U884 04887 04ROD
27 1314 1900 2032 24m 2 27 23 04893 04896 04808 04901 04904 04906 04909 04011 ©04DI3 049t6
ot 1313 1901 2048 2467 263 o 24 04918 D420 04922 04925 04927 04920 04931 04932 04934 04936
2 1311 1.69% 2045 2462 2,956 29 &3 04938 04940 04541 04543 04943 04946 0.4948 04949 0495% 04952
e 1382 1645 1960  23% 257 a
26 04953 0A955 04956 04957 04950 04960 04941 04962 BA963 04964
247 04965 04966 04967 DA9GE 04969 04970 DASY] DAOT: GA9T3 0ADY4
. 28 04974 04975 04976 04T 04977 04978 04979 D49T9. 0A9BD 0408t
23 04981 04982 04982 DA983 04984 04984 04985 04985 04985 0.4985
5.0 04987 04987 D.4987 049883 04988 04980 04989 04985 04990 04950
] ] ] 1 ] ] A 1 wedl 1 1 3 1 1... 3 ) 1 1 5. S % 1




	MX-M350U_20120320_153917.pdf
	MX-M350U_20120320_155342
	MX-M350U_20120320_155414
	MX-M350U_20120320_155441
	MX-M350U_20120320_155630

